Sr Questions Answers Choice

A S S S8 A ASC-HWESS 3
B. U5l o¥ S pasy S sa SSa (Slass
s b )

1 § = Uis WS e Al S suf C. 3 oS (S pn sl Wl Gl il
LSS A4S
D. Usans alite S o S SIS 98
U_)S &J*ﬁ‘j&

A 4.3‘3;5&

B. XX saus

C. oSl Jyil s
D. o& %)

2 s 5SS S O

A ol
L el

~ad

3 O S S 358 e ol s 5 S O Sene

A alass ¢ Aad i gl enad
L\A:utl"\,,ﬁ;  gan (i gaienad

1S s b AL
L'U:\L: 514'.)“1 ‘57\.05\ U&\S el

4 o e a3 (S s e (S s 5 S s

P55 sy
o Josby
()““)A ‘qu

L
oS S e

5 S e s A (e Gses 0o 2 e

(ENY
BESPT
I
o s sl

6 =SS s gl Al (S 05 Sees

DOoW» DOWP DOWr OOW

Al - - (58 - S - ) S

sl - 315805 5 (A5 0 (S S

Y gl A

B. -0l - - sS - S
7 o G (S Sl (s e Gl S35l - 5805 LS R A 50

Y sasbl-

C. -0 - - sS J - Al

S S PP E R LS PR IS PPCE SP

Y sl

8 § oo g pin AYL SIS (e 09l (S oS

9 U S o S Al

10 JEYCTTIAET: ST UPIE U W

11 Gy~ d S A S Gl (e 035 @l sl s s S, 38

.CO2 Ll ) A K02 Sl 8
L0218 sl z1 Al K CO2 sl
C.C02 L,/ 02z A s
D. CO2 L5 02 il s

P> Dowr DOWPE DOWP U
= A %r«h‘
&
o
&

12 = s b Gl 1S ol (e G505



